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B. A./B.Sc. 1st Semester (Honours) Examination, 2021 (CBCS)

Subject : Economics
Paper : CC-1
(Introductory Microeconomics)
Time : 3 Hours Full Marks : 60

The figures in the margin indicate full marks. Candidates are required to give their answers in
their own words as far as practicable.
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1.  Answer any six questions 5%6=30
(T P =% efred Ted wie)

(a) What is cross price elasticity of demand? Cross price elasticity of demand will always be
positive-True or False. Justify your answer.
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(b) Explain the relationship between marginal rate of substitution and convexity of indifference
curve.
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(c) Analyse the relationship among own price elasticity of demand, cross price elasticity of
demand and income elasticity of demand.
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(d) Explain when compensated demand curve becomes flatter than actual demand curve?
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() What is an income consumption curve? In a two-good world can both the goods be
inferior? Give reason for your answer.
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(f) Discuss the impact of imposition of unit tax on the equilibrium of a perfectly competitive
firm.
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(g) What is the significance of average fixed cost in the short run for a firm making loss in
perfectly competitive market?
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(h) What would be shape of average product and marginal product curve if the production
function is of Cobb-Douglas type? Explain why?
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Answer any three questions 10x3=30
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(a) Analyse the difference among normal good, inferior good and giffen good with the help
of the concepts of income effect, substitution effect and price effect.

R 2O, ARES 2O ¢ TN AeiEE (RER MR TR 73, [958 w9 ¢ P a@E
S A1 S |

(b) Discuss the axioms of revealed preference theory and show how negativity of substitution
effect can be explained in this theory.
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(c) Define average revenue and marginal revenue and established the relation between average
revenue, marginal revenue and elasticity of demand.
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(d) Write the form of CES function. Show that C-D production function is a limiting form of
CES production function.
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(e) Explain how long run equilibrium of a firm and industry are achieved in perfectly
competitive market.
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